1)

In case of illegal strikes, the absence of the employees concerned tantamounts to a
break in service and cannot be condoned without the sanction of the

1)
2)
3) GM
4) President of India

Request for conversion of one kind of leave into another can be considered within a
period of how many days of the Railway servant joining his duty on the expiry of the

relevant spell of leave availed by him/her.

30 days
) 45 days
4) 60 days

1) 15 days
2)
3

Choose the correct expansion for the abbreviation CPGRAMS.

1) Centralized Public Grievance Redressal And Monitoring Software
2) Centralized Pensioners Grievance Redress And Monitoring System
3) Centralized Public Grievance Redress And Monitoring System

4) Centralized Police Grievance Redress And Monitoring System

As per SOP who can authorize a non-gazetted railway servant to proceed on duty
outside the Zonal Railway.

(A)PHOD (B)JAG (C)Sr.Scale(independent charge) (D) Sr.Scale (E) Junior Scale

Select the correct answer from below:

1) A-B-C-D-E
2) A-B-C-D
3) A-B-C

4) A-B

Sanctioning powers for training of non-gazetted staff in Non-Railway Institutions:

(A) AGM - Rs.10,000/- per day per person subject to maximum of Rs. 50,000/- per course per person
(B) DRM - Rs. 8,000/- per day per person subject to maximum of Rs. 40,000/- per course per person

(C) PHOD -Rs.4,000/- per day per person subject to maximum of Rs. 10,000/- per course per person
Select the correct answer from below:

1) A-B-Cis true
2) A-B-C is false
3) A-Bis true, Cis false
4) Ais true, B-C is false
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into?
6) ZRTI/TPJ has been converted int

1) Multi-Disciplinary Zonal Trqlnlng "rr:-:tl::?rtg
2) Multi-Disciplinary Zonal Railway t

3) Multi-Disciplinary Training Institute

4) None of the above

Institute

7) Which is not a training initiative?

) Project Saksham

) Mission Satyanishtha
) Project Swarn

4) Swachh Rail

1
2
3

8) Transport allowance is permissible in the following cases

A) Those availing concessional season tickets
B) Those availing suburban passes
C) Those availing residential card pass

Select the correct answer from below:

1) Permissible in cases of A, B& C

2) Not permissible in cases of A, B& C

3) Permissible in cases of A & B and not in C
4) Permissible in cases of A & C and not in B

9) Which is not related to Medical Department in Railways?

1) UMID
2) CTSE
3) RELHS
4) SRRS

10) Expand RRSK.

1) Rashtriya Rail Suraksha Kosh
2) Rashtriya Rail Sanraksha Kosh
3) National Railway Fund

4) None of the above

11) Who is the appointing authority for Level 6 (4200GP)?
1) ADRM
2) SrDPO

3) DPO
4) APO
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12) The following Acts does not apply to registered Trade Unions:

1) The Societies Registration Act, 1860
2) The Co-operative Societies Act, 1912
3) The Companies Act, 1956

4) All of the above

13) After integration of the training centres, how many training centres are there in Southern
Railway?

1) 31
2) 25
3) 18
4) 15

14) Who is the competent authority to approve compassionate ground appointment to
married daughter?

15) ZRUCC is

1) Committee of Railway's Unions at Zonal level

2) Committee of Railway Users at Zonal level

3) Is Commandos Committee to provide Z plus security
4) None of the above

16) In an L-shaped PRQ reservation roster, with points filled till roster point number 7, if the
SC candidate at point number 4 retires, which candidate can fill this single vacancy?

1) SC
2) ST
3) OBC
4) UR

17) Reservation in recruitment for Persons with Benchmark Disabilities is

18) Recruitment against which of the following quota was done in Southern Railway for the
year 2018-197

1) Scouts & Guides Quota

2) Cultural Quota
Page 3 of 24

Scanned by CamScanner



2

o3
'
3) Sports Quota "
above :
4) Allof the 4 functional holiday home?

i have
19) Which division of Southern Railway does not

1) MAS & PGT
2) PGT & TPJ

3) MAS & MDU .
4) All six Divisions have Holiday Home

trative Tribunals Act, 19857

20) What is the composition of a Bench under the Adminis

1) One Judicial member and one Administrative member

[ ini i ber
2) One Chairman and one Adm|n|strat'|v_e me.m
3) One Judicial member and two Administrative members

4) None of the above

21) Consider the following pairs:

Type of Information Time Line
A)  For PIO to reply to application : 30 days
B)  For PIO to transfer to another Public Authority : 5 days
C) For PIO to issue notice to 3rd Party : 5 days
D) For PIO to reply to application if 3rdParty involved : 40 days
E) For applicant to make First Appeal : 30
F)  For CIC/SIC to decide Second Appeal : No time limit specified

Which of the pairs given above is/are correctly matched?

1) Only AandF

2) OnlyA,B,CandE
3) OnlyA, B, C,EandF
4) All of the above

22) In which of the following CRIS is /was not involved?

23) Who is the competent authority to recognize a Trade Union over a zone?

1) ED/IR/Railway Board

2) GM of that Zone

3) All the DRMs of that Zone
4) None of the above
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The e-office being implemented in South i .
24) by ern Railway has been designed and developed

S&T Dept.

; CRIS
; NIC

1
2
3
4
25) Following is/are the Member post/s in Railway Board:

1) Member (S&T)

2) Member (Materials Management)
3) Both of the above

4) None of the above

26) Which is not a luxury tourist train?

1) Deccan Odyssey

2) Royal Rajasthan on Wheels
3) Golden Chariot

4) Mahaparinirvan Express

27) Which is a minor penalty?

1) Reduction in time scale of pay for a period of 48 months

2) Withholding of 25 sets of Privilege Pass and 20 sets of PTOs
3) Both of the above

4) None of the above

28) During station inspection by S&WI, availability of the following should be checked:

HOER Roster
Grievance registers
LEQO's register

All the above

B OWN >
B

29) What is the incentive for acquiring higher qualification of PG Degree/Diploma of duration

more than one year or equivalent?

Rs. 30,000
Rs. 25,000
Rs. 20,000
Rs. 15,000

HWN -
— S S

30) Calculate CTG with the following details:

A) Pay: Rs.36,500/-
B) D.A.12%
C) Transferred beyond 20km
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N OY
’ vq)\ ;i
gelect the correct ansWe" OO\
I-
1 Rs.36.500
2; Rs.33,588;-
Rs.29,200/- :
4) None of the above 49 year a the time of death eog?tljrftath-&
as studying in B'T.eCh leted his B.Tech degree < aking
31) A candidate for CGA W ce. The candidate com his course. His candidature fo
who was a Railway <_amp|oy . itration 10 complete N5 ‘o which of his educational
permission from Rallway admmllfj be considered according to
t wou

compassionate appointmen

qualification?

Tech
one of the above

Z X X

L ' n will the
32) In case of newly recruited Group C staff, where initial training 1S PT escribed, whe

probation period start?

1) The date of reporting to Railways

2) The date of reporting for training

3) After successful completion of the training
4) None of the above

33) Consider the following statements:

A) A staff on Inter-Railway one way own request transfer is not eligible for duty pass.
B) A staff on Inter-Railway mutual transfer is eligible for duty pass.

Reference to the above statements, select the correct answer from below:

1) A-Bis true
2) A-Bis false
3) Aistrue, B is false
4) Bis true, A is false
34) The following categories of transfers in the
w case of - i
the condition of minimum 5 years service: non-gazetied staff is exempted from

1) Railway servants who are caregi i
givers to a disable i
2) Transfers sought on spouse ground dchild

3) Widows appointed on compassi
SS
4) All of the above passionate grounds

ITEM
TIME LINE

Page 6 of 24

Scanned by CamScanner



b

&AR cases (minor) (i) 90 days
> India leave applicationg (if) 30 days
€ appointment (divisionay level) 2:3)) ?1;? céays
ays

1) A-i, B-ii, C-iv, D-ji
2) A-ii, B-i, C-iii. D-jy
3) A-iii, B-iv, C-ii. D.j
4) A-iv, B-iii, Ci. D-ii

36) Child Care Leave May not be granted fo

\.‘l«)/s‘days at a time

2) 10 days at a time
3) 15days at a time
4) None of the above

ra period less than

4) Respective PHOD

38) What will be the medical classification of the unified category of commercial and ticketing
staff for direct recruitment?

1) A-2 a x
.\A% B-1
) B-2

4) C-1

39) For claiming Hostel Subsidy, what is the pre-condition regarding distance between
residence and hostel?

1) 20 km

2 50 km

3) 120 km
4) 150 km

40) Who is supposed to monitor the rotational transfer of officials working in sensitive post?

1) Vigilance Department

Personnel Department
3) Executive Department
4) None of the above
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ch no appeal lies

41) As per D&AR, orders against whi

resident of India o nature of step-in

uspension
rse of an inquiry under Rule -,

rder made by the P ;
;.; m grder of an interlocutory naturi orr‘ c;fn e
of a disciplinary proceeding, pghert 2;1 e ot
3) Any order passed by an inquiring author y
4) All of the above

[ ' t be—
42) A candidate for appointment to Railway Services mus

1) A citizen of India
2) A subject of Nepal

3) A subject of Bhutan
4) All of the above

are the following:

-aid of the final

43) A substitute Bungalow Lascar with temporary status is eligible for

1) One set of privilege pass and four sets of PTOs
2) One set of privilege pass and zero set of PTOs

3) Zero set of privilege pass and four sets of PTOs
4) Zero set of privilege pass and zero set of PTOs

44) Select the incorrect statement.

1) No prior permission of the Government is required for donating blood in Blood Banks

attached to railway hospitals or government hospitals.

2) Prior permission is necessary for acceptance of an amount on account of donation of

blood.

3) Railway employee who donates blood to a railway hospital on a working day may be

granted special Casual Leave, for that day.

4) A railway employee who comes from out-station to donate blood to a railway hospital

may be granted a complementary pass.

45) As per SOP, what is the maximum award which can be sanctioned by PCPO for all non-

gazetted staff and officers up to JAG?

1) Rs. 5000/- for gazetted and Rs. 3000/- for non-gazetted
2) Rs. 3000/- for gazetted and Rs. 5000/- for non-gazetted
3) Rs. 2000/- for gazetted and Rs. 1000/- for non-gazetted
4) Rs. 3000/- for gazetted and Rs. 2000/ for non-gazetted

46) Which activities can be undertaken under Staff Benefit Fund?

i) Women Empowerment Activities

ii) Sports Activities

iif) Scouts Activities

iv) Recreational facilities to Officers and Supervisory staff
v) Indigenous system of medicine including Homoeopathy

vi) Immediate relief in times of crisis arising out of natural calamities
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vii) Training for developin i
) _ g occupational ski i
especially girls of railway Snpfbydes ills of physically/mentally challenged wards

Select the correct answer from below:

1) 1,01, i, v, v, vi, i
2) i, v, v, vi, vii

3) i, ii, iii, v, vii

4) i, ii, iii, v, vi, vii

47) “Right to Information" means the ri [
right to information accessible under RTI A ich i
_ t
held by or under the control of any public authority and includes the right toi whieh s

1) Inspection of work
2) Takir?g' certified samples of material
3) Obtaining information in the form video cassettes or in any other electronic mode

4) All of the above
48) Identify the odd one out.

1) Compassionate Allowance

2) Subsistence allowance

3) Appointment on Compassionate Grounds
4) Deemed Suspension

49) Select the categories under Vertical and Horizontal Reservation for recruitment in Indian
Railways:
(i) SC (i) ST (iii) OBC (iv) PwBD  (v) EWS (Vi) ExSM
PwBD, ExSM

—SC, ST, OBC, EWS; Horizontal Reservation —
wBD: Horizontal Reservation — EWS, ExSM
tion — EWS, PwBD, ExSM
SC, ST, OBC

1) Vertical Reservation
2) Vertical Reservation — SC, ST, OBC, P
3) Vertical Reservation — SC, ST, OBC; Horizontal Reserva
4) Vertical Reservation — EWS, PwBD, ExSM; Horizontal Reservation —

50) Southern Railway, in its present form, came into existence on

1) 14" September 1951
2) 12" September 1950
3) 12" April 1950
4) 14th April 1951

51) Consider the following statements:

s admissible in the case of temporary transfer for a period not

A) No joining time i
exceeding 180 days.
B) Joining time for trans
C) Joining time may be co
duration including casual leave.

page 9 of 24
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en abové are correct’?

Which of the statements giv

1) A-B-C is true
2) A-B-Cis false

3) A-Cis true, B is false
4) Ais true, B-C is false

he following statements:

ed under-menti
n duty, reckoned from

52) Consider t

shall be grant

Railway servant
headquarters O

when away from

A) If absence from headquarter does not excee
allowance.

B) If absence from the headquarter do
daily allowance.

C) If absence from t
allowance.

Which of the statements given above are correct?

1) Only (iii)

2) Only (ii) and (iii)
3) All of the above
4) None of the above

53) Match the following:

Works Planhead

A) Training (i) 52

B) Staff Quarters (ii) 65

C) Amenities for Staff (iii) 51

D) Computerisation (iv) 64
(v) 17

Select the correct answer from below:

1) A-iv, B-iii, C-i, D-ii
2) A-ii, B-i, C-iii, D-iv
3) A-iii, B-i, C-ii, D-iv
4) A-ii, Biii, C-i, D-v

54) Consider the following pairs:
g; :SEEP : For Procurement
PS : For Engineering De
partment
C) IRPSM : For Works Programme

Which of the pairs given above is/are correctly matched?
Page 10 of 24

oned proport the
midnight to midnight:

db6 consecutive hours : 3
es not exceed 12 consecuti

he headquarter exceeds 12 consecutive hours

ion of the daily allowance

0% of the daily
ve hours : 70% of the

full daily
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1)

2)

3) Only AandB

4) Allthe three — A B and C

55) Consider the following pairs:

A) EDRISHTI : Initiative for eye health
CB:) g;{:T_AMIK KALYAN : For contract workers
) SAMANVAY : To ensure faster implementation of Railway projects

Which of the pairs given above is/are correctly matched?

1) Only A

2) Only B

3) OnlyBandC

4) All the three —A, B and C

56) Consider the following statements with respect to non-gazetted staff:

s to accept voluntary retirement

A) Senior Scalc_e (independent charge) has full power
including waival of notice period except for those posts which are controlled by HQ.

B) Senior Scalg (independent charge) has full powers to accept resignation including
power to waive off notice period provided he is the appointing authority.
has full powers to transfer Group-C and Group-D

C) Senior Scale (independent charge)
staff within the seniority unit for posts controlled by them within the Division.

Which of the statements given above are correct?

1) Only (C)
2) Only (A) and (B)
3) All of the above
4) None of the above
57) Consider the following statements with respect to non-gazetted staff:
Advance (HBA) as admissible.

rvice not more than one year for staff

ers to grant House Building

A) SrDPO has full pow
one break in se

B) Sr DPO has full powers to cond
under their control.
t change of name in original records including service

C) Sr DPO has full powers to permi
registers (SRs) subject to compliance of the prescribed procedure.

Which of the statements given above are correct?

1) Only (C)

2) Only (A) and (B)

3) All of the above

4) None of the above

ed date of birth of Group 'C'and D' employees?

58) Who has the powers to alter record
Page 11 0of 24
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§ S §4
N
b "
1) SrDPO «
2) DRM
3) Respective PHODs
4) PCPO

59) Consider the following statements with respect to non-gazetted staff:

A) SrDPO has full powers to create Supernumerary post for medically decategorized
staff, .

B) SrDPO has full POwers to sanction ex-gratia payment tp _the dependents of railway
employees who die in performance of their bonafide official duties

C) SrDPO has full powers to Classify railway servants under hours of employment rule.

Which of the statements given above are correct?

) Only (A)

) Only (B) and (C)

) All of the above
4) None of the above

1
2
3

60) Consider the following statements:

A) 25% of the money value for any post surrendered through Work Study reports should
be transferreq to Railway Board.

B) DRMs may create safety as well as other th
of Surrendereqd Posts”

Which of the statements given above are correct?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

61) Match the following:

Promotion Method

Vacancy Anticipation Period

A) LDCE

(i) One year
B) Suitability by Trade Test (i) Six months
C) Suitability by Record of Service (iii) Fifteen months
D) Suitability by Departmental tests (iv) Four months

Select the correct answer from below:
1) A-i, B, C-i, D-i

2) A-iii, B-iv, C-ii, D-j

3) A-iii, B-i, C-i, D4

4) A-i, B-iv, C-ii, D-iii
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62) Consider the following statements regarding modification of selection panel:

A) Whe.n. a §e|ection panel has been approved by ADRM (SAG Officer), a proposal for
modification of panel may be approved by DRM (SAG Officer).

B) When a ge!ection panel has been approved by HOD (SAG Officer) in HQ, a proposal
for modification of panel may be approved by CHOD (SAG Officer).

Which of the statements given above are correct?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

63) Consider the following statements regarding definition of Non-Selection post as per

IREM Vol-I:

A) 'Non-selection posts' are posts, grades or classes which have not been declared as

'selection posts'.

B) 'Non-selection posts’ are posts, gra
cum suitability’.

C) 'Non-selection posts' are posts, grad
test.

des or classes where promotion is by ‘seniority

es or classes where promotion is not by written

Which of the statements given above are correct?

1)

2)

3) (A)and (C)

4) All of the above

64) Consider the following statements regarding Non-Selection post:

who has passed a suitability test once need not be called for the test

uld be eligible for promotion as and when vacancies arise.
st should be held at the interval which should not be less than six

A) An employee
again and sho

B) A suitability te
months.

Which of the statements given above are correct?

1)
2) Only (B)

3) Both (A) and (B)
4) None of the above

65) Consider the following statements regarding selection posts:

nwillingness should not be reckoned for

A) Persons who have expressed their u
d additional persons in lieu thereof may be

determining the zone of consideration an

called for the selection.
Page 13 of 24
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ar in the select;

[ noe entar, -
jving unwillingnes® o be called for supplementa iy

r
. ithout @ has te after the seie. .
date withou! 3 /0% 1\ refore ent date .
B) Ifa Candl- eCkOnmg an na sUbseqU te for him.
be taken in the 182 0 % willingness 0 lled to compensa
idate gnves I calie
C) If a candida

ill not be
commenced, additional persons wil

' correct?
Which of the statements given above aré

1) Only (A)
2) Only (B)
3) Only (A) and (C)
4) All of the above

i jon posts:
66) Consider the following statements regarding selection p

i one of whom should be
A) Selection Boards shall consist of not less than thr‘ledebomf(r:s::'a Department other than
a Personnel Officer and one of the Members should be
r which selection is held. , : o officers
B) tTh:; f[g)resence of a Personnel Officer in the Selection Boardst ?;%n?em:ti}:etr:ent e
from the Department for which selection is held woqld mee el
officer being from a Department other than that for which selec |onf A rr;embers o
C) When a Selection Board consist of only three Officers, none o
directly subordinate to any other.

Which of the statements given above is/are correct?

1) Only (A)
2) Only (B)
3) Only (A) and (C)
4) All of the above

67) Consider the following statements re

garding assignment of seniority to redeployed surplus
staff:

t of the past service rendered in the
ir seniority in the new unit/department,

B) When two or more surplus employees of a particular grade in a unit/department are
simultaneously selected for redeployment in another unit/department in a grade, their

inter-se  seniority in the particular grade, on redeployment in the latter
unit/department, would be the same as in their previous unit/department

Which of the statements given above is/are correct?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

68) Consider the following statements:
Page 14 of 24
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A) The medi
) N ord:)clﬂl(llyr/ do(;:mogorlsod stall absorbad in allarnative posty whether in 1
- L ' . ", )
reforence cla re, should be allowed senionity In the grade of ubmmmm:lwit‘;,
- ‘ 1@ length of service rendered in the equivalent or corre: |
) The medically decategorised g o8,

rhed " ; sponding grade,

aff ¢ edn alternative posts, whether | '
same or other cadre, should be allowed bottom-mo i o
absorption,

stosenionty in the grade of
C) Provided that if a medically decategorised employee happens 1o be absorbed in the

cadre ‘from \(vhich he was originally promoted, he will not be placed ahove his
erstwhile seniors in the grade of absorption.

Select the correct answer:

1) Only (A) is not correct
2) Only (B) is not correct
3) Only (C) is not correct

4) (A). (B) and (C) are correct L
h m
69) Calculate DCRG at the time of superannuation. Q‘O/,f
( N/
7 ,\7
A) Pay: Rs.36,500/- (& 4 ~/
& 0 o/ «
B) D.A: 12% Yy o g /"
C) Qualifying service: 30 yrs 0.9 " 3
o
Select the correct answer: ‘f) v \f’l’ a4 i

1) Rs.12,26,400/-
2) Rs.6,13,200 /-
3) Rs.6,74,520/-
4) None of the above

70) Calculate leave encashment at the time of superannuation.

\»
A) Pay: Rs.36,500/- V?@"{%‘Sp ,
B) D.A.: 12% | ﬂ’/¢/ :
C) LAP: 250 ¥
D) LHAP: 200

Select the correct answer:

) Rs.5,11,000/-
) Rs.4,08,801/-
) Rs.3,74,733/-
4) None of the above

1
2
3

71) Calculate Pension, Enhanced Family Pension (Enhanced F.P.) and Ordinary Family

Pension (Ordinary F.P.). \;@; 3

A) Pay: Rs.36,500/-
B) D.A.:12%
lifying service: 30 yrs
C) Qualitying g Page 15 of 24
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Select the correct answer:

: F.P.-Rs.10 9
- Rs.14,600/- and Ordinary .
i 22 18.250/- and Ordinary F.P. - Rs.14 g0
P.-Rs.18, d Ordinary F.P. - Rs.10,950,.

1) Pension - Rs.18,250/-, Engangzg Il-;
2) Pension - Rs.14,600/-, Enhan . .
33 Pension- Rs.18,250/-, Enhanced F P.-Rs.18,250/- a
4) N

one of the above
72) India has rail links with
A) Pakistan

B) Nepal
C) Bangladesh

Select the correct answer from the code given below:

1) Only (B)

2) (A)and (B)

3) (B)and (C)

4) All the three above — A, B and C

73) Recognition of Trade Unions is normally valid for how many years?

1) Four years
2) Five years
3) Six years
4) Seven years

74) As per I.D.Act 1947, "industrial dispute" means any dispute or difference between
A) Employers and employers

B) Employers and workmen

C) Workmen and workmen

which is connected with the employment or non-employment or the terms of
employment or with the conditions of labor, of any person.

Which of the above is/are correct?

1) Only (B)

2) Both (A) and (B)
3) All the three above
4) None of the above

75) Southern Railway, under CSBF, provides hostel facilities at subsidised rate at which all
places to wards of Railway employees pursuing Higher Studies?

1) Chennai and Madurai
2) Chennai and Thiruvananthapuram

3) Thiruvananthapuram and Palakkad
4) None of the above
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76) South Coast Railway will be the zone of Indian Railways.

1) 16"
2) 17"
3) 18"
4) 19th

77) Which is not for grievance redressal?

1) NIVARAN
2) SFC

3) CPGRAMS
4) ANUBHAV

78) Which of the expansion is correct?

1) IPAS - Integrated Pay and Accounts System
2) AIMS - All India Institute of Medical Scienes
3) COMPTRAN - Common Portal of Transfers
4) UWID - Unique Medical Identity Card

79) Apprentices under Apprentices Act, 1961 are

A) Trainees and not worker
B) Eligible for payment of salary

Which of the statements given above is/are correct?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

80) Consider the following:

A) The only method to gain employment in Indian Railways is through RRBs, RRCs and
CGA.

B) Railways, as Principal Employer of Contract Labours engaged in its various

departments have obligation to monitor that the Contractor pays its labour as per
Minimum Wages Act.

Which of the statements given above is/are correct?
1) Only (A)
2) Only (B)

3) Both (A) and (B)
4) None of the above
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‘ DINY

. RN

Read the following passage carefully and answer questions numbered §1 to 9, W
only on the passage below: %

The first railway on Indian sub-continent ran over a stretch of 21 miles from Bombay o, \
The idea of a railway to connect Bombay with Thane, Kalyan and with the Thal

and Bhore - -
inclines first occurred to Mr. George Clark, the Chief Engineer of the Bombay Govemmé_;
during a visit to Bhandup in 1843

The formal inauguration ceremony was performed on 16th April 1853, when 14 railway carri
carrying about 400 guests left Bori Bunder at 3.30 pm "amidst the loud a
multitude and to the salute of 21

guns”. The first passenger train steamed out
destined for Hooghly, a distance

ages
pplause of 3 vast

of Howrah station
irst section of the

pened on Ist July,
ilayam (Veyasarpandy

82) Among the initial lines laid for Railways on Indian sub-con

tinent, which part of the sub-
continent covered the maximum distance?

1) North
2) South
3) East
4) West

83) Which was the place from which the first railway carriage started its journey?

1) Bombay

2) Thane

3) Bori Bunder
4) Bhandup

84) The first section opened to traffic in the North was

1) Allahabad to Kanpur
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2) Hathras Road to Mathura Cantonment
3) Howrah to Hooghly

4) Bombay to Thane

85) Indian Railways under one management, is the

A) Largest rail network in Asia

B) Largest rail network in the world

C) Second largest rail network in Asia

D) Second largest rail network in the world

Which of the statements given above is/are correct?

1) (A) and (B)
2) (C)and (D)
3) (A)and (D)
4) None of the above

86) "Amidst the loud applause of a vast multitude and to the salute of 21 guns".

On the basis of the above sentence in the passage, the following assumptions have
been made:

A) Only common public attended the inauguration ceremony.
B) People were happy to hear the gun'salute and clapped.
C) Everyone applauds in an inauguration ceremony.

Which of the above assumptions is/are valid?

1) Only B

2) Only (A) and (B)
3) All the three

4) None of the above

87) Within how many years of inauguration did Indian Railways have a route mileage of 9000
miles?

1) 37 years
2) 27 years
3) 24 years
4) 21 years
88) The first passenger train was hauled by
) Horses
) Steam locomotives
)
)

Diesel locomotives

1
2
3
4) Multi-traction
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B) Indian Railways is a premier transporter w

Which of the above assumptions is/are valid?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

90) From the above passage it can be logically concluded that

A) Small beginnings always lead to bigger th!ng§.
B) Bigger things might have had smaller beginnings.

Which of the above conclusions is/are valid?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

Questions numbered 91 to 100 have option of two questions. Answer any one of them
in each. :

91) As per Official Language Rules, Union Territory of Chandigarh is classified under which
Region?

) A

0N -

) B
) C
) None of the above

OR

Consider the following statements:

A) Current Union Minister to Railway is Shri Suresh Prabhu.
B) Current Union Minister of State for Railway is Shri Suresh Channabasappa.

Which of the statements given above is/are correct?
1) Only (A)
2) Only (B)

3) Both (A) and (B)
4) None of the above
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92) consider the following statements:

A) Hindi is the National Lan :
R , guage of |
B) Hindi is the Official LanguagéJ of lngizla.

Which of the statements given above are correct?

1) A-Bis true
2) A-Bis false
3) Aistrue, B is false
4) Bis true, A is false

OR
Who was the first Union Minister to Railway of independe

1) Asaf Ali
2) N. Gopalaswami Ayyangar

3) Lal Bahadur Shastri
4) John Mathai

93) What is the sequence for writing Railwa
Name Board?
English — Regional Language

1) Hindi -

2) English - Hindi — Regional Language

3) Hindi— Regional Language — English

4) Regional Language — Hindi — English
OR

Consider the following statements:

outhern Railway.

A) CMRL s a part of S
t of Southern Railway.

B) Kochi Metro is a par

Which of the statements given above is/are correct?

1) Only (A)

2) Only (B)

3) Both (A) and (B)
4) None of the above

94) From the following languages, which is/are part of the Eighth Schedule of the

Constitution?

nt India?

y station’s name in various languageé

s on Station

Indian

(i) Angika (i) Bhojpuri (iii) Maithili (iv) Maghi (V) Santhali (vi) Garhwali (vii) Bodo
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Select the correct answer:

1) None of the above

2) All of the above

3) i, v, vii

2) i, i

OR

Consider the following trains:

A) Vivek Express
B) Chennai Rajdhani

C) Kerala Express
D) Mettupalayam Udagamandalam MG Passenger

With reference to the trains mentioned above, in terms of their route kilometre, which of

the following is the correct ascending order?

95) Which is the final Hindi course prescribed for Clerical cadre employees of Central Govt.?

1) Prabodh
2) Praveen
3) Pragya
4) None of the above

OR

Find the odd one out.

1) Grievance Adalat
2) Pension Adalat
3) Aap ki Adalat

4) Lok Adalat

96) Consider the following pairs:

A) Statutory rules translation into Hindi : Law Ministry
B) Hindi Teaching Scheme : Home Ministry

Which of the pairs given above is/are correctly matched?
1) Only (A)
2) Only (B)

3) Both (A) and (B)
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4) None of the above

OR
\Which train is known as Train 187

1) Tejas Express

J) Gatiman Express

J) Vande Bharat Express
4) Mahanama Express

87 \Whatis the cash award for qualifying Prabodh exam with 70% and more marks?

1 Rs 800/-

2) Rs. 1200/-
J) Rs. 1600/~
4) Rs. 1800/-

OR

How much is the honorarium for secretarial assistance to PREM group members at
Divisional level?

1) Rs. 3,000 per month
2) Rs. 7,500 per month
J) Rs. 2,250 per month
4) Rs. 5,000 per month

28) \What is "PARANGAT" under Hindi Teaching Scheme?

1) Those who qualify Pragya with 80% marks are termed as “Parangat”
2) Itis a training programme for those having working knowledge of Hindi

3) Experts of Rajbhasha who take classes under Hindi Teaching Scheme
4) None of the above

OR

Consider the following statements:
A) Re-engaged retired Railway employees are not eligible for any leave in a calendar
year.

B) Re-engaged retired Railway employees are eligible for 8 days of leave in a calendar
year.

C) Re-engaged retired Railway employees are not eligible 15 days of leave in a
calendar year.

Which of the statements given above is/are correct?

1) Only (A)
2) Only (B)
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A Only )
A None of the abvwe

00) The Departiment dealing With Hindi i Souther Rabway i called

1) Hind Departimant

2 Rashtiabhasha Department
B Wilingual Departiment

4 Rajhhasha Depattinent

OR
Consider the fallowing statementa

A) Statf working i Pay Matix Level 6 in poaseasion of educational qualification of
Diplomain Labour Lawa, are eligible to appear in the selection for the post of Staft &
Weltare Ingpector againat 3% all Department Quota,

B) Open market candidates are eligible to appear tor GDCI

Which of the statements given above is/are coteat?

1) Only (A)

2) Only (8)

3) Both (A) and (1)
4) None of the above

100) Who was the First Chaiman of Ofticial Language Commission?

1) G.B.Pant

2) Om Mehta

J) B.G.Khel

4) Lalit Narayan Mishra

OR
Select the correct expansion of OMR answer sheol,

1) Old Mahabalipuram Road
2) Optional Mark Reader

3) Optical Mark Recognition
4) Old Money Rate
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